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Please: Solve only 10 guestions. , Section No.:

1. Evaluate J-’ x sec”' x dx

P w.k._,,,,,,L-‘,.mm':,‘»r..».m..wu.,._.-m.‘.m...m.w..,,..W;M ----- .‘-"4—“-“““
e 4{ Uz See " 1

s \ =

I - E e N - i
& Mﬁ é“;:;w.,.,,,.,.wi«..WJ -‘-{2 U;—) -0 ) \%[Q 7= bJ
S 2 2 -
Tt S
d \r” -

f
=

= ) L Sex Mt

) \\ :’QE'E
Vo 3 2

/ 2
2. Evaluate_[ x —7
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4. Write down the partial fraction decomposition of DG

[Do not calculate the coefficients]
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5. Evaluate .fsin 2x cos3x dx — 1
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6. Find J.(x3+3x)exzdx. — ’[.
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7. Evaluate |sin’ x dx.
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10. Find [ 1++/x dx. :I
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